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dlmQuuQmJnla  ( 9 . 4 7 )  do

Y = c.exp(-x2  ) _....  (9.48!

Q~wbtwm^molnmi~  (9.47) (II+  1)  FI?.I  x~:Im’

- +  2 x  22  +  2(n+l) z
d2  z

d x
= 0 . . . . ( 9 . 4 9 )

dx2

n
z=  dy = -c d ”

dx* dx*
(exp  - x2  ) . . ..(9.50)

d*  u- - 2 x  c.Ji  +  2nu =d x 0 . . - . (9 -51 1
dx’

mum  (9.51) ~“aunii na.mlsuomm%.+i  (Hermite’s ~wion)  ~~~~h%.U%JNQQ~

bJn’ llQJ;fli  n (Hermite polynomial of degree n) Xd$rlkttUtlh

H,(X) = t-1 J”ekp(x’  ) d”  expc-xz  )- ee.. ( 9 . 5 2 )
dx”

H,cx)  = 1

HI(x) = 2x

H2W =4x2-2

H3(x) =8x3-12x

H4W = 16x4-48x2+12
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Y =qA4 exp (-$x2/2)  , E = 1 hd
0 0 z

I = (l3)% 1 2 B'x.exp (-6x2/21, E = 3 h ! ’
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2 = (!p ’
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T = rz (%I'+ r2sin28(~)21 . ..(9.57)

T =’ de
Fmr2 L(E)'+ sin'e  (dtd%2 I . ..(9.58)

E = T+T = 1 (m,r: + m,ri
1

1 2 IT )t($$)'+ sinZe(g12  1 . . . (9.59)

i
warn m,rl  = my2 blR:: rO= r1+r2 9,4&l

m2 rrl = -
m+m 0
1 2

. . . . (9.60)

LLR:: m, r: +m2 rz = ml rl rl +m2 r2 r2 = m, rI rI + rnlrlr2

= ml rI (rI +r2 ) = mlrlr . . . . (9.6%)0

tmucil  r1 mxwm73  (9.60) aalufmnis  (9.61) 3x1;

ml  ‘: + m2rg = mlr r14
= mlmL

I-: . . . . (9.62)

ml +m2

hi72ITl = luLuugv;ua3na7udnu  (momentofinertia) LWTlX&.i

I = m,b: + m,r: = p,rz . - . . . (9.63)
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Q(0) = @(P + 2fl) . . . . . (5.72)
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